DU MA Philosophy

Topic:- DU_J19_MA_PHIL
1) “Self —Respect is my birth right” is the slogan of ___.

“ITHTH AR 5+ g 3RPR 87 71 3Mexf 91 @ | [Question ID = 1268]

1. Lakshmi Narasu / ©&H! 4% [Option ID = 5071]

2. Karunanidhi / &S0 [Option ID = 5069]

3. E. V. Ramaswamy Periyar / 3. dl. I IRTR [Option ID = 5070]
4. Sri Narayana Guru / #t FRTIUT T[% [Option ID = 5072]

Correct Answer :-
« E.V.Ramaswamy Periyar / . I, I\ 9RAR [Option ID = 5070]

2) Which of the following states Jaina Triratna?

fFafafea # § o119 99 BRa <1 39 a1 82
[Question ID = 1239]

Right Judgement, Right Trust, & Right Conduct, / T 0T, Trre fayr, 3R Twe T [Option ID = 4953]
Right Faith, Right Knowledge, & Right Conduct, / 9§80 % E"x’ﬁ, D 3, 3R &S A [Option ID = 4954]
Samyak-Viswas, Samyak-Dharma, & Samyak-jfiana / I=I% faym, I P ?Jff, 3R &P T [Option ID = 4956]
Samyak-jfiana, Samyak-Karma, & Samyak-Vicar, / I&$ A€, T Eh‘ﬁ, 3R J-D fourR, [Option ID = 4955]
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Correct Answer :-
. Right Faith, Right Knowledge, & Right Conduct, / %% &RH, ¥=i% I, 3R I=I% 9 [Option ID = 4954]

3) Which of the following schools of classical Indian philosophy are traditionally regarded to be astika darsanas?

TRuR® ¥U ¥ Rl § urdia oxfF &1 #1991 wga snfae o=f= arn s 82
[Question ID = 1228]

Early Buddhism / WRf¥e& s <= [Option ID = 4911]
Samkhya / R8T X [Option ID = 4912]

Jainism / S g2 [Option ID = 4910]

Charvak / @rdfe &= [Option ID = 4909]

P

Correct Answer :-
. Samkhya / TRsF &M [Option ID = 4912]

4) Which of the statement corresponds to Mill’s Utilitarian theory?

P A HYARA S SuRarEard) Rigid & O« @ 82
[Question ID = 1238]

1. Motive is important for evaluating the action. / T % e B & oY I He@quf &1 [Option ID = 4949]

2. Motive has nothing to do with the action. / G‘?{Qq P HH I P13 aT-¢T ToI B [Option ID = 4950]

3. Both motive and numerical strength of the people being affected are important / JYIfad 81 aTdl AT T Ah¥G 3R
TS Uf ST Hgayui & [Option ID = 4951]

4. none of the above /| IWIad H ¥ dIs el [Option ID = 4952]

Correct Answer :-



5) Which one of the following could be translated in the form of a particular negative proposition?
I. NotallSisP.

IL. Many S are not P.

II1. Only Sis P.

IV. All but a few S is P.

Which one of the following combinations is true for the above question?

fFafafae % 3 52t sizramndt TeRIEs abareg & wu § srarfed faar & o 32
I.9W's, Pl 81

II. S SP R 2l

III. 9 S P 2|

IV. $9 &l Bisp i s P 21

[Question ID = 1243]

1.0nlyI/  &ad I [Option ID = 4971]
2.0nlyII/ ®adll [Option ID = 4972]
3.1&II/  I3RII[Option ID = 4969]

4.1, TI&IV/ LI 3R IV [Option ID = 4970]

Correct Answer :-
« I&II/ IS3MRII[OptionID = 4969]

6) Which one of the following is not a valid mood of the second figure?

frafafae & @ o1 ar fgdy srefa &1 3y arr T8 22
[Question ID = 1248]

1. EI O [Option ID = 4992]
2. A E E [Option ID = 4990]
3. AII [Option ID = 4989]
4. E A E [Option ID = 4991]

Correct Answer :-
e« AII[OptionID = 4989]

7) Development as freedom is viewed by .

__ Wfd P WaAa1 » FUH 3@ &1 [Question ID = 1264]

1. Sri Aurobindo / % 3Rfd@ [Option ID = 5056]
2. Tagore / ¢7IR [Option ID = 5055]

3. Gandhi/Tieft [Option ID = 5053]

4. Amartya Sen/3fAd I [Option ID = 5054]

Correct Answer :-
e Amartya Sen/m E3al [Option ID = 5054]

8) A biconditional is defined as:

UG &1 URRHTHT 81 [Question ID = 1245]

1. A disjunction of two conditionals / &I 3{TdTg+! &1 fagis [Option ID = 4980]
2. A disjunction of two disjunctions/ & fdaieiHI @7 fagisH [Option ID = 4977]
3. A conjunction of two conditionals/al TG BT Tt [Option ID = 4978]
4. A conjunction of two conjunctions / al TdoH P g [Option ID = 4979]

Correct Answer :-
« A conjunction of two conditionals/Eff 3TaTeAY BT A [Option ID = 4978]

9) A proposition is:

T dPbaTH 8: [Question ID = 1251]



1. None of the above./ 370 ¥ CAERIG R [Option ID = 5004]

2. Is a language neutral entity./HTST Ush TSR] Il gl [Option ID = 5003]
3. Not necessarily a sentence./SI%&R1 gl fb T ardd gl | [Option ID = 5001]
4. Is good or bad./3=3T T §xT1 [Option ID = 5002]

Correct Answer :-
 Is a language neutral entity./HTST Uch SR Il gl [Option ID = 5003]

10) Samkara calls this world Mithya, which means __.

THT 3G ST B {1 $8d & RIS arud & ___ | [Question ID = 1226]

1. Unreal / 3¥d [Option ID = 4902]
2. False / daI¥d [Option ID = 4901]
3. Real / 9d [Option ID = 4903]

4. Illusion / YH [Option ID = 4904]

Correct Answer :-

11) Genderis a .

w1fd/ 983 ___ @1 [Question ID = 1262]

1. Genetically determined /Wmﬁﬁﬂﬁﬁ [Option ID = 5048]
2. Natural Construct/9Tdbfcie I [Option ID = 5046]
3. Social Construct/STHTS® g1 [Option ID = 5047]
4. Biological Construct/Sifd@ =T [Option ID = 5045]

Correct Answer :-
« Social Construct/STHTST® Ia-T [Option ID = 5047]

12) 'The Ghost in the Machine' principle is given by:

wefie # fRya U i g1 f&ar 1 8: [Question ID = 1256]

1. Gilbert Ryle/fIesié Iaa [Option ID = 5021]

2. Bertrand Russell/ﬁ%:_&’ d [Option ID = 5024]
3. P. F. Strawson/dl. T. ¥ [Option ID = 5023]
4. J. L. Austin/Sl. Td. 3{fRkeH [Option ID = 5022]

Correct Answer :-
« Gilbert Ryle/fiesd I19a [Option ID = 5021]

13) According to Kant a ‘perfect duty ' is .

Pic P AR TS IRV Whae) Baed___ gl
[Question ID = 1232]

1. A moral obligation on everyone / Tt wR Afae afia [Option ID = 4926]

2. None of the above / IWRIgGd & ¥ P13 -Tg! [Option ID = 4928]

3. A moral obligation on the agent alone / 3P Tole (Tcﬁ) RAfdFRIE [Option ID = 4925]
4. A moral obligation relative to a situation / fRUfd % TTder Afde I [Option ID = 4927]

Correct Answer :-

« A moral obligation on the agent alone / 3{%d Toie (Fdf) TRAfdPeIIG [Option ID = 4925]

14) According to Kant, that geometrical propositions are synthetic shows .

Pic F AR — ST Ufagiea Gxaie & - ggefara e |

[Question ID = 1261]



1. Space is an intuition/fa%dR TH 3faq= (intuition) H [Option ID = 5043]

2. Space is a judgement/ fR T 07T (judgement) & [Option ID = 5042]
3. Space is a concept / fOWR U& sr@yrRun (concept) g [Option ID = 5041]
4. Space is a priori/fa%R UNTIHfA® (a priori) & [Option ID = 5044]

Correct Answer :-

e Spaceis an intuition/ﬁﬁﬁ Th Sfagi (intuition) % [Option ID = 5043]

15) According to Leibnitz .

drafee & sgarR ___|
[Question ID = 1259]

1. Bodies are confused representations of minds/fRemal 79 & yfird ufafAfi & [Option ID = 5034]
2. Bodies cannot represent minds/feTa 9 &1 UfafAfdia T8 @ Ibd & [Option ID = 5033]

3. Bodies are clear representations of minds/f@Tal 79 & Wy UfafAfeia € [Option ID = 5035]

4. Minds are confused representation of bodies/H- ot &1 yftd ufaffia g [Option ID = 5036]

Correct Answer :-
« Bodies are confused representations of minds/fRemal 79 & Yfia ufafafid § [Option ID = 5034]

16) According to Leibnitz .

HefFea & AR ___|
[Question ID = 1258]

1. Two non-identical individuals are indiscernible /&l R-3f (non-identical) fad sifade (indiscernible) % [Option ID = 5031]
2. Two indiscernible individuals are non-identical/al 3ffave (indiscernible) fad TR-3ifF (non-identical) Hek [Option ID = 5030]
3. Two discernible individuals are identical/al fav=r (discernible ) fed i % [Option ID = 5029]

4. None of the above./ 3T H I F1g off 8t [Option ID = 5032]

Correct Answer :-
» None of the above./ g1 Y ﬁ'sc i 7t [Option ID = 5032]

17) ‘Biocentric theory’ requires:

g $fse Rigia F 3mawaddr 8: [Question ID = 1236]

1. Respect for nature / U fd o1 T [Option ID = 4942]

2. Species egalitarianism / PEIGESEIRG [Option ID = 4941]

3. Action to show respect for nature / U&fd & Ufd T fa@™ @1 fosam [Option ID = 4943]
4. Belief in respect for nature / Q?ﬁ[ & gfd THH o oy [Option ID = 4944]

Correct Answer :-
» Species egalitarianism / PSRRI [Option ID = 4941]

18) Causation, according to Hume, is based on:

W & R, BRUMI ___ TR 3MYTRA 8: [Question ID = 1254]

1. Relations of ideas/URIRﬁ DT I+ [Option ID = 5016]

2. A deductive inference/ T Ta-TdH® ab [Option ID = 5014]
3. A natural relation/Ud Wﬁ@ TdY [Option ID = 5013]

4. Constant conjunction/FRdR TIRT [Option ID = 5015]

Correct Answer :-
« Constant conjunction/FRaR FTNT [Option ID = 5015]

19) Loksamgraha conceptis foundin__ .



WAPpATe U1 S1dT g | [Question ID = 1223]

1. Gita / T & [Option ID = 4889]

2. Jainism / S =19 H [Option ID = 4891]

3. Buddhism / S &= & [Option ID = 4890]
4. Carvaka / TTdid! § [Option ID = 4892]

Correct Answer :-
« Gita / 71 & [Option ID = 4889]

20) Who argued that the entire world can be categorized into seven padarthas?

fora adb fear @ 1% Jyuf s &1 ara verdt o affea forar s gwar 22
[Question ID = 1230]

1. The Vaisesika philosophers / CRIRERANIBED [Option ID = 4918]
2. The Vedanta seers / dgid &I [Option ID = 4919]

3. The Samkhya philosophers / TReT gIRIfA® [Option ID = 4920]

4. The Jaina teachers / EERANIEEH [Option ID = 4917]

Correct Answer :-
« The Vaisesika philosophers / CRUNCRARIRES [Option ID = 4918]

21) The social system in which men holds primary power is knownas ___

I8 AHINS AT Ford T3y UHE ¥U | UfR YR $d 8, SYB] _ Hel oIal 8 [Question ID = 1263]

1. Patriarchy / fﬁ?ﬁ?ﬂ [Option ID = 5050]
2. Feminism / TldTg [Option ID = 5052]

3. Patriotism / GRIHfdd [Option ID = 5049]
4. Matriarchy / HIQHT [Option ID = 5051]

Correct Answer :-
« Patriarchy / @R [Option ID = 5050]

22) Mind is housed in the body, for Descartes, as -

79 IR # fRYA 8, STP1e9 F g, S - [Question ID = 1260]

1. Without having any impact on each other/Ud W R PIg YHIT ST faT [Option ID = 5040]

2. A pilot in the body /IRR # T& Urgee [Option ID = 5037]

3. Ghost in the body / TRR & 4d [Option ID = 5039]

4. Intermixed with the body such that both compose a unity / IRR & 1Y T SEE g fp At Uhdl DI a1 B g [Option ID =
5038]

Correct Answer :-
o Intermixed with the body such that both compose a unity / R IR & gy T SEIE HEEARI UShdl &1 G- B g [Option ID
= 5038]

23) The philosopher who became the President of India ____

___ 9% aRif® S HRd % APUfd 9 [Question ID = 1266]

1. Babu Rajendra Prasad / GTQ\TT@I'?E YT [Option ID = 5064]
2. Abdul Kalam/37sgd &amd [Option ID = 5061]

3. S. Radhakrishnan / T, JUTHW [Option ID = 5063]

4. K. R. Narayanan / &. 3/R. 9RTGUMA [Option ID = 5062]

Correct Answer :-
 S. Radhakrishnan / TH. YTV [Option ID = 5063]



Nyaya theory of error is

grg@nfadre g1 [Question ID = 1225]

1. Akhyati / 3r=ATfd [Option ID = 4897]

2. Atmakhyati / 3TN [Option ID = 4898]

3. Anyathakhyati / SFOYREf [Option ID = 4899]

4. Anirvacaniyakhyati / 3fda-IaRemfa [Option ID = 4900]

Correct Answer :-
« Anyathakhyati / 3FIYRHTRT [Option ID = 4899]

25) This theory has been criticised for not providing enough protection for individual rights:

SRR SRt ¥ Rg vaf e war T8 e F Rig 39 Rigia 35 srcien 9 7
[Question ID = 1233]

1. Utilitarianism / IgIfTararg [Option ID = 4931]

2. Kantian Deontology / FHifea Sraiicrarsi [Option ID = 4930]
3. Moral Relativism / Afd@ ATd&raTe [Option ID = 4929]

4. Care ethics / TR&UT Afdesar [Option ID = 4932]

Correct Answer :-

« Utilitarianism / SRS [Option ID = 4931]

26) This can be said of Aristotle’s moral philosophy:

39 3RT F Ao a=f & IR W HgT o HdT 8:
[Question ID = 1234]

1. That it discussed the nature of friendship / % g8 QI & E@fﬁ TR It Bl & [Option ID = 4935]

2. That its aim was not limited to being a theoretical discipline alone / & SH®T 3T FHad Jgifad ST I T el T
[Option ID = 4934]

3. That it was inspired by Plato’s philosophy / & og @l & A I URa o1 [Option ID = 4933]

4. All the above / ITad WMt [Option ID = 4936]

Correct Answer :-
« Al the above / Iudad Taft [Option ID = 4936]

27) Vaisesikas believe in .

IANF AT & ____ | [Question ID = 1224]

1. 8 padarthas/ ¢ Ucrd [Option ID = 4894]
2. 7 padarthas/ 9 gerdf [Option ID = 4893]
3. 16 padarthas / %& Terd [Option ID = 4896]
4. 9 padarthas / & T&r [Option ID = 4895]

Correct Answer :-
« 7 padarthas/ ‘o Terd [Option ID = 4893]

28) Vaisesika does not believe in ___.

IAN®___ 8 A= §1 [Question ID = 1222]

1. God / %R [Option ID = 4888]

2. Dravya / g4 [Option ID = 4887]

3. Inference / 3{HTT [Option ID = 4885]

4. Upamana as independent pramana / SUHIT Udh Idd-d YHIUT FETYH [Option ID = 4886]

Correct Answer :-



« Upamana as independent pramana / SUHM T ¥d- YHIU & =U H [Option ID = 4886]

29) The fallacy ad hominem occurs when:

RIS dhey a9 3T gidT & 99 [Question ID = 1246]

1. an appeal to emotions is made by the person/fd<il Jfad gRT UGS &I SRIA a1 SY [Option ID = 4984]

2. the same term is used with two different meanings/U& &t U &1 &l fid 3idf o vRIRT faram ST [Option ID = 4982]
3. a personal attack is directed at a person’s character/&fad & IRT R AfGaTd U8R fhar e [Option ID = 4983]
4. the two different terms used have the same meaning/@f U vl & gumE o | wranT fohan sy [Option ID = 4981]

Correct Answer :-
« a personal attack is directed at a person’s character/aaad & afta TR AfddTd UgR fodr SIW [Option ID = 4983]

30) Match the following:

i. Jainism a. The doctrine of catuskoti
ii. Madhyamikas b. Satkaryavada

iii. Samkhya c. Asatkaryavada

iv. Nyaya d. Anekantavada

Select the correct combination:

fFrafafaa &1 e #3)
i.99eRF  a. agwpife o1 Rugia
ii. ATATN® b, GopTdAIG

ii. I/ c. IHPIAIG

iv. g d. 3F®iddig
Hﬁ'\‘l’lﬂﬂﬂﬂﬁ

[Question ID = 1227]

1. i-b, ii-c, iii-d, iv-a [Option ID = 4908]
2. i-d, ii-a, iii-b, iv-c [Option ID = 4906]
3. i-a, ii-b, iii-c, iv-d [Option ID = 4905]
4. i-c, ii-d, iii-a, iv-b [Option ID = 4907]

Correct Answer :-
e i-d, ii-a, iii-b, iv-c [Option ID = 4906]

31) Which school rejects inference as a pramana?

P T TP ATHAT B! THIU & ©9 H 3RAIPR HdT 32 [Question ID = 1231]

1. Vaiéesika / 39 [Option ID = 4924]
2. Samkhya / 9T [Option ID = 4922]
3. Carvaka / Tmaie [Option ID = 4923]
4. Nyaya / =I1Td [Option ID = 4921]

Correct Answer :-
« Carvaka / 91dfe [Option ID = 4923]

32) Moral virtues according to Aristotle:

IRT F IR A T
[Question ID = 1237]

Are a mean between two vices / al Gﬂﬁﬂﬁ & &g TP AeEHE %‘ [Option ID = 4947]

All of the above /  SWRIad Taft [Option ID = 4948]

Pertains to our emotions and desires /  BHRT {13 3R g=313if ¥ aiferd § [Option ID = 4946]
Can be acquired / ! gTRYT fhaT T Tebell B [Option ID = 4945]

PN

Correct Answer :-



. All of the above /  JURIGT FHT [Option ID = 4948]

33) Standard decision procedure in the logic of propositions could be represented by:

THaTR & ahRIRd | A fofa faftrat 1 wfafAfie g 3:
[Question ID = 1244]

1. Disjunctive Normal Form/fdaisies I 3R & gRT [Option ID = 4973]

2. Truth Table Method / T IRUN fafd & gRT [Option ID = 4975]

3. Shorter Truth Table Method/ TYR ¥ IR faf¥ & GRT [Option ID = 4974]
4. All of the above/ SWRIad Tt & GRT [Option ID = 4976]

Correct Answer :-
« All of the above/ ITRIad YT & GRT [Option ID = 4976]

34) A sound argument is one in which:

gferaaiab g omd |
[Question ID = 1242]

1. The premises are true and the conclusion is also true / YR T gid & aul fepd «ft g grar g [Option ID =
4967]

2. The premises are true but the conclusion is false / S{TURAIH I gag Rq ey srg [Option ID = 4965]

3. The premises are false and the conclusion is also false / STYRATH 3 Bl % Jut sy ot sra grar % [Option ID
= 4966]

4. The premises are false but the conclusion is true / STYRATHR Y A6k R sy g BT 8 [Option ID = 4968]

Correct Answer :-

. The premises are true and the conclusion is also true /  3MTYRATH T B4 & a1 fspy +t I 81T ® [Option ID =
4967]

35) What gives pleasure is good is identified with .

Sl g@ AT R 98 DT & HIY dIgIed R $aT @ | [Question ID = 1267]

1. Duty theory / Fcod Rigid [Option ID = 5068]

2. Hedonism / §¥diq [Option ID = 5065]

3. Deontological theory / fSareraired Rigid [Option ID = 5067]
4. Kantianism / ¢TI [Option ID = 5066]

Correct Answer :-
» Hedonism / JYdIq [Option ID = 5065]

36) Which of the following is the correct symbolisation of the proposition “All businessmen and ministers are
either hard-working or rich”? (Bx: x is a businessman; Mx: x is a minister; Hx: x is hard-working; Rx: x is rich):

ahare W i) iR W ar at ulvee § ar o=t 8 &1 f6 U A udieievur 81 Adr 82 ( Bx : x ATURY §; Mx: x WAt
2; Hx: x uf¥srft 8; Rx: x 3R ®) [Question ID = 1250]

1. (x) [(Bx v Mx) o (Hx v Rx)] [Option ID = 4997]
2. (3X)[(Bx. Mx) . (Hx v Rx)] [Option ID = 4999]
3. (x) [(Bx .Mx) v (Hx . Rx)] [Option ID = 4998]
4. (x) [(Bx. Mx) o (Hx . Rx)] [Option ID = 5000]

Correct Answer :-
e (X) [(Bx v Mx) o (Hx v Rx)] [Option ID = 4997]

37) Which of the following would be true for empiricists?

fFrafafaa A ¥ S sgyaarteal & fore T8t 8R1 [Question ID = 1252]



1. Mind is born with innate ideas/HRsh S=ASITd faaRT & 1Y UGl BIdT 8 [Option ID = 5005]

2. None of the above/IWRIgd & ¥ P13 8! [Option ID = 5008]

3. Mind is passive/Hf&Tss fAfS%hd g [Option ID = 5007]

4. Mind is a clean state at birth/SF1 & AT Af&TSh T Rad Wi B dg 8idT & [Option ID = 5006]

Correct Answer :-

« Mind is a clean state at birth/SF & 9T AR U Rad Wie @I a8 8idl 8 [Option ID = 5006]

38) Which of the following is NOT a Category of Judgment listed by Kant, under 'Quantity":

frafafEa & @ 17 & Fofa # FIf i grT oA & aria 78 & [Question ID = 1257]

1. Particular/3{=raTdt [Option ID = 5026]
2. Plural/§gaaTdt [Option ID = 5028]

3. Singular/ T&aTUT [Option ID = 5027]
4. Universal/gdaardt [Option ID = 5025]

Correct Answer :-
« Plural/SgoaTdl [Option ID = 5028]

39) Which of the following is a symbolization of modus ponens?

fFrafafaa & ¥ 19 91 AisH NAY &7 Udi® 82 [Question ID = 1270]

1.P>Q, Q> R, Therefore, P> R/P > Q, Q o R, 3TfA, P 5 R [Option ID = 5079]

2. P> Q, Q, therefore, P/ P o Q, Q, 39faIY, P [Option ID = 5077]

3. P, Therefore P / P, 9fdT4 P [Option ID = 5080]

4. (H>R) > (S>T), (H>R), Therefore, (S > T) /(H> R) 5 (S > T), (Ho R), $TfAT, (S o T) [Option ID = 5078]

Correct Answer :-
e HoR)>(SoT),(H>R), Therefore, (SoT)/(HoR)>(SoT), (HoR), Eﬂﬁﬂ, (S o T) [Option ID = 5078]

40) According to David Hume,'impressions’ :

3fds g9 & YR, PR : [Question ID = 1253]

1. Include sensations and emotions/TdeT3if 3R {37 P! 2T P & [Option ID = 5010]
2. Are lively and forceful/Sitdd iR IRl & [Option ID = 5009]

3. All of the above/IWRIad I+t [Option ID = 5012]

4. Are experienced/3JHd 53 o € [Option ID = 5011]

Correct Answer :-
« All of the above/3TWRIad ¥+ [Option ID = 5012]

41) If “All men are mortals” is true, then which of the following propositions will be true?
I. Some mortals are not non-men.

II.No non-mortals are men.

III. Some men are mortals.

IV. All non-mortals are non-men.

Choose the correct answer:

gfe "wft agsr wroRfta & W 8, @ Fafafaa 3 @ @19 91 adbarey 9@ g
1. $© WU oafe of-Ag 18 &1

I1. B3 3f-ARurfie safedt Agsy ) €

III. $© U TRURid &

1v. Tft or-mRorfie =afaa o-agwa 7

Wﬁﬁ?ﬁﬁ:

[Question ID = 1247]

1. Both I & II/ I 3R II GHY [Option ID = 4985]
2. 1,11, & IV/ I, II, 3R IV [Option ID = 4986]
3. Only ITI/ ad I1I [Option ID = 4987]



4. Al four./94t TR [Option ID = 4988]

Correct Answer :-
«  All four./94 IR | [Option ID = 4988]

42) Euthanasia is an:

TOMY:
[Question ID = 1241]

1. allof the above / JURIGKI FHI [Option ID = 4964]

2. act of encouraging another person to kill themselves. / GER Jfadd &1 g B! ARA & o WieTied &3 &1 BRI | [Option ID
= 4963]

3. act of deliberately ending a person’s life to relieve suffering / G R &< & fo1T fohell fdq & Sitad B SAHIHDHR JAT
P BT B § [Option ID = 4961]

4. act of deliberately assisting another person to kill themselves / Tl 31 Hfad Pt SHIHHR TSI HAT ANy Al Gaah!
TR T [Option ID = 4962]

Correct Answer :-

. act of deliberately ending a person’s life to relieve suffering / §® gR & & foru fdl aafad & Sl BI SHIHDHR
T PR DT B g [Option ID = 4961]

43) Kantian ethics is .

pifeqs Afd®ar ___ 81 [Question ID = 1235]

1. Ethics of convenience / a4 @t Afdddr [Option ID = 4939]

2. Principle based ethics / T fgia 3menfd Sfdesar [Option ID = 4937]
3. A goal based ethics / T 6T 3NeTRd Afdedr [Option ID = 4938]

4. Emotive ethics / gD Afdear [Option ID = 4940]

Correct Answer :-
« Principle based ethics / T& Rigia 3menika Afdedr [Option ID = 4937]

44) According to Logical Positivism, philosophy must be done through:

aifd e yaerare/NRiffIwT ¥ AR, o=iF IR 5 Yo & 8141 T1f_RT [Question ID = 1255]

1. Falsification/ faTaur gRT [Option ID = 5020]

2. The validity of logical argumentfdm gf% DI YT GRT [Option ID = 5017]
3. The role of reason/m P ﬂ;[&l?b"l gIRT [Option ID = 5019]

4. The logical analysis of language/HTST & dTfdhas fARATUT §RT [Option ID = 5018]

Correct Answer :-
« The logical analysis of language/HTdT F I ATV gRT [Option ID = 5018]

45) The Theory that leads to Liberation is

ot Rygia ot Ml BT 3R & ST 8: [Question ID = 1240]

Theory of Momentariness /  &f0r&drg [Option ID = 4960]
Eight fold path /  3fSRT AT [Option ID = 4958]
Desireless action /  f&bTH &H [Option ID = 4957]
Five vows/  Urd HeTgd [Option ID = 4959]

Hwnh =

Correct Answer :-
. Eight fold path / 31871 A1f [Option ID = 4958]

46) The book The Argumentative Indian is written by

Y[R F13TT WS TRH g et S B



[Question ID = 1269]

1. Tavleen Singh / dadiq Rig [Option ID = 5073]

2. Deepak Sarma / U@ THf [Option ID = 5074]

3. Amartya Sen / 3 I [Option ID = 5075]

4. Upamanyu Chatterji / SUHY ﬂ?\‘rﬁ[Option ID = 5076]

Correct Answer :-
* Amartya Sen / Al ¥ [Option ID = 5075]

47) The author of Riddles of Hinduism is .

ReeT ofir egswd aa®d ___ &I
[Question ID = 1265]

1. Radhakrishnan / JTUTHWIT [Option ID = 5057]
2. Ram Manohar Lohia / I H-IgR @ifgdr [Option ID = 5059]
3. Ambedkar / 3FS8HR [Option ID = 5060]

4, Rahul Sankrutyayan / g Jip AT [Option ID = 5058]

Correct Answer :-
« Ambedkar / 3SR [Option ID = 5060]

48) The author of Vakyapadiyais

THRTHTE dEE =
[Question ID = 1271]

1. Bhartrhari /4dgR [Option ID = 5084]
2. Gamgesa / THI=T [Option ID = 5083]
3. Panini / TTfOTA [Option ID = 5081]

4. Udayana / 34 [Option ID = 5082]

Correct Answer :-
« Bhartrhari /4R [Option ID = 5084]

49) The author of the text “Bhasapariccheda'is .

YT IR FAEH &
[Question ID = 1229]

1. Jayanta Bhatta / SIdd Hg [Option ID = 4916]

2. Viéwanatha Paficanana / fa%ATy T=IHH [Option ID = 4914]
3. Annam Bhatta / 39" Hg [Option ID = 4913]

4. Ramanujacarya / JHTISIE [Option ID = 4915]

Correct Answer :-
. Viéwanatha Paficanana / [a%=1y g4 [Option ID = 4914]

50) No fish are mammals. Some dogs are not fish. Therefore, some dogs are not mammals, is an instance of one of
the following fallacy:

BIS Ao TWAYR T €1 $° P Aol T8 1 IART, $© P WA T €, Frafafad d A fed ve o1 Serevvr 8
[Question ID = 1249]

1. Existential fallacy/ TUR® qheIy/ §dTHT [Option ID = 4993]
2. Exclusive premises / -0 HTYRAIR [Option ID = 4994]

3. Illicit minor / 3MAAfYd 3M%&H Ug [Option ID = 4995]

4. Undistributed middle / 3{ATW AT Uq [Option ID = 4996]



Correct Answer :-
e Exclusive premises / 30 ATYRAIH [Option ID = 4994]



